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I E R1

host nane R1
|

i pv6 cef

!

i pv6 uni cast-routing

!

interface Loopbackl0

no i p address

ipv6é address FD10::/64 eui-64

!--- Assigned a IPvé6 unicast address in EUI-64 format. ipvé ospf 1 area 1

!--- Enables OSPFv3 on the interface and associates the interface loobackl0O to area 1. ! interface Loop
no i p address ipvé address FD20::/64 eui-64
ipv6é ospf 1 area 2

!--- Associates the Interface loopback20 to area 2. ! interface Serial0/0 no ip address ipvé address
2001::1/124
ipvé ospf 1 area 0

!--- Associates the Interface serial0/0 to area 0. clock rate 2000000 ! ipv6 router ospf 1 router-id 10
!--- Router RI1 uses 10.1.1.1 as router id. | o0g-adjacency-changes ! end

2t E R2 2t E{ R3

host nane R2 host nane R3

! !

i pv6 cef i pv6 cef

! !

i pv6 uni cast-routing i pv6 uni cast-routing

nt erface Loopbackl0

! no i p address

nterface Serial0/0 ipv6 address FD0l::/64 eui-64
no i p address ipv6 ospf 1 area 1

ipv6 address 2001::2/124 !

ipv6 ospf 1 area 0 nt erface Loopback20

cl ock rate 2000000 no i p address

! ipv6 address FD20::/64 eui-64
! ipv6 ospf 1 area 2

nterface Serial0/1 !

no i p address

nterface Serial 0/0

ipv6é address 2002::1/124 no i p address
ipvé ospf 1 area 0 ipv6é address FE80::AB8 link-local
clock rate 2000000 ipv6é address 2002::2/124

! ipvé ospf 1 area 0
I cl ock rate 2000000
I |

i pv6 router ospf 1 i pv6 router ospf 1

router-id 10.2.2.2 router-id 10.3.3.3
| 0og- adj acency- changes | 0og- adj acency- changes

! !
end end
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OSPF Z4x|ad 0|44 &9l

OSPF7} SHIE2H FMAEIR=XR| & 2162 TH show ipve route ospf IS AISSHL|C}.

show ipv6 route ospf
2t El R1

Rl#show i pv6 route ospf
| Pv6 Routing Table - 10 entries
Codes: C - Connected, L - Local, S - Static, R- RP, B - BGP
U - Per-user Static route, M- MPv6
11 - 1SISLL 12 - 1SISL2, IA- ISISinterarea, IS - ISIS sunmary
O- OSPF intra, O - OSPF inter, OEl - OSPF ext 1, OE2 - OSPF ext 2
ON1 - OSPF NSSA ext 1, ON2 - OSPF NSSA ext 2
D - EIGRP, EX - ElIGRP external
O  FDO1:: C002: 1DFF: FEEO: 0/ 128 [ 110/ 128]
vi a FE80: : C001: 1DFF: FEEO: 0, Serial 0/0
O 2002::/124 [110/128]
vi a FE80: : C001: 1DFF: FEEO: 0, Serial 0/0
O  FD20:: C002: 1DFF: FEEO: 0/ 128 [ 110/ 128]
vi a FE80: : C001: 1DFF: FEEO: 0, Serial 0/0
2t<*E R3
R3#show ipv6é route ospf
| Pv6 Routing Table - 10 entries
Codes: C - Connected, L - Local, S - Static, R- RIP, B - BGP
U - Per-user Static route, M- MPv6
11 - 1SISLL 12 - 1SISL2, IA- ISISinterarea, IS - ISIS sunmary
O- OSPF intra, O - OSPF inter, OEl - OSPF ext 1, OE2 - OSPF ext 2
ON1 - OSPF NSSA ext 1, ON2 - OSPF NSSA ext 2
D - EIGRP, EX - ElIGRP external
O 2001::/124 [110/128]
vi a FE80: : C001: 1DFF: FEEO: 0, Serial 0/0
O  FD10: : C000: 1DFF: FEEO: 0/ 128 [ 110/ 128]
vi a FE80: : C001: 1DFF: FEEO: 0, Serial 0/0
O  FD20:: C000: 1DFF: FEEO: 0/ 128 [ 110/ 128]
vi a FE80: : C001: 1DFF: FEEO: 0, Serial 0/0
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ICMP Alzt =1t IHIAIXIE dretefict

Bt E R10|M R32| 3-2& F4 ping

Bt E R1

Rl#ping FE80::ABS

!--- Pinging Link-Local Address of router R3. Qutput Interface: serial0/0
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!--- To ping LLA, output interface must be entered. Type escape sequence to abort. Sending 5, 100-byte
Echos to FE80::AB8, tineout is 2 seconds: Packet sent with a source address of FE80:: C000: 1DFF: FEEO: O .
Success rate is 0 percent (0/5) !--- The ping is unsuccessful and the ICMP packet cannot reach the
destination through serial0/0. !--- This timeout indicates that R1 has not received any replies from th
router R3.
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2lE R20|MH R1 &3-2Z FA ping
2 E R2

R2#ping FE80::C000:1DFF:FEE0:0
!--- Pinging Link-Local Address of router R1. Qutput Interface: serial0/0

!--- Note that to ping LLA, output interface should be mentioned In our case, R2 connects to R1 via
serial0/0. Type escape sequence to abort. Sending 5, 100-byte |ICWMP Echos to FE80:: C000: 1DFF: FEEOQ: 0, tim
is 2 seconds: Packet sent with a source address of FE80::C001: 1DFF: FEEO: O !!!!l Success rate is 100 per
(5/5), round-trip mn/avg/ max = 0/19/56 ns

R1Q| CIHO &3

R1#

*Mar 1 03:59:53.367: | COWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: O
*Mar 1 03:59:53.371: | CGWPv6: Sending echo reply to FE8O0:: CO01: 1DFF: FEEO: O

*Mar 1 03:59:53.423: | COWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: O
*Mar 1 03:59:53.427: | CWPv6: Sending echo reply to FE80:: CO01: 1DFF: FEEO: O

*Mar 1 03:59:53.463: | COWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: O
*Mar 1 03:59:53.463: | COWPv6: Sending echo reply to FE80:: CO01: 1DFF: FEEO: O

*Mar 1 03:59:53.467: | COWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: O
*Mar 1 03:59:53.467: | COWPv6: Sending echo reply to FE80:: CO01: 1DFF: FEEO: O

*Mar 1 03:59:53.471: | COWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: O
*Mar 1 03:59:53.471: | CGWPv6: Sending echo reply to FE8O0:: CO01: 1DFF: FEEO: O

!--- The debug output shows that the router R2 can ping router R1's link-local address.

2l E{ R20|MH R3 A3-2Z F4A ping
2t E R2

R2#ping FE80::ABS
!-—- Pinging Link-Local Address of router R3. Qutput Interface: serialO/1

!--- Note that,to ping LLA,output interface should be mentioned. In our case, R2 connects to R3 through
serialO/1. Type escape sequence to abort. Sending 5, 100-byte | CVMP Echos to FE80::AB8, tineout is 2 sec
Packet sent with a source address of FE80::(C001: 1DFF: FEEO: 0 !'!!!!l Success rate is 100 percent (5/5), ro
trip mn/avg/ max = 0/18/ 60 ns

R3QCIHO &
Ra#

*Mar 1 04:12:11.518: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 04:12:11.522: |CWv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 04:12:11.594: | CMPv6: Received echo request from FE80:: C0O01: 1DFF: FEEOQ: O
*Mar 1 04:12:11.598: |ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 04:12:11.618: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 04:12:11.618: | CWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 04:12:11.622: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 04:12:11.622: |CWv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 04:12:11.626: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 04:12:11.630: |ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

!--- The debug output shows that the router R2 can ping router R3's link-local address.
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show ipv6 interface brief
2t El R1

Rl#show ipvé interface brief
Serial 0/ 0 [ up/ up]
FE80: :ABS8
2001::1
Loopback10 [up/ up]
FE80: : C000: 1DFF: FEEO: O
FD10: : C000: 1DFF: FEEO: O
Loopback?20 [up/ up]
FE80: : C000: 1DFF: FEEO: O
FD20: : C000: 1DFF: FEEO: O

2t <*E R3

R3#show ipv6é interface brief

Serial 0/0 [up/ up]
FE80: :AB8
2002:: 2

Loopback10 [up/ up]

FE80: : C002: 1DFF: FEEO: O

FDO1: : C002: 1DFF: FEEO: O
Loopback?20 [up/ up]

FE80: : C002: 1DFF: FEEO: O

FD20: : C002: 1DFF: FEEO: O

!--- Shows that R1 and R3's serial interface has same link-local address FES80::ABS8.

Ol o R1 X R3I2 SLUE B3-ZH FAZ & 51 R2E 23 £ QIEI|0|AE XIHE m
0%5| & et Eol| =EE & U&LICH

R20IA R1 & R32| &3-2Z FA ping
R20{A R1 &3-2Z F4 ping

R2#ping FE80::ABS8

Qut put Interface: serial0/0

!I--- R2 is connected to R1 through serial0/0. Type escape sequence to abort. Sending 5, 100-byte |ICWP E

to FE80::AB8, tineout is 2 seconds: Packet sent with a source address of FE80::C00l: 1DFF: FEEQ: 0 !!!!! S
rate is 100 percent (5/5), round-trip mn/avg/ max = 0/26/92 ns

R1& ClHO &

R1#

*Mar 1 19:51:31.855: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 19:51:31.859: ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

*Mar 1 19:51:31.915: I CWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 19:51:31.919: ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

*Mar 1 19:51:31.947: | CWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 19:51:31.947: ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

*Mar 1 19:51:31.955: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 19:51:31.955: ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

*Mar 1 19:51:31.955: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0

*Mar 1 19:51:31.955: ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
R20{ A R3 &3-2Z F4 ping

R2#ping FE80::ABS8

Qutput Interface: serial0/1

!I--- R2 is connected to R1 through serialO/1. Type escape sequence to abort. Sending 5, 100-byte |ICWP E
to FEBO:: AB8, tineout is 2 seconds: Packet sent with a source address of FE80::C001: 1DFF: FEEQ: 0 !'!!I!1l S
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rate is 100 percent (5/5), round-trip mn/avg/ max = 4/28/76 ns

R3Q| C|H &3
R3#

*Mar 1 19:53:38.815: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:53:38.819: |ICMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:53:38.911: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:53:38.915: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:53:38.923: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:53:38.927: |ICMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:53:38.955: | CMPv6: Received echo request from FE80:: CO01: 1DFF: FEEOQ: O
*Mar 1 19:53:38.955: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:53:38.963: | CMPv6: Received echo request from FE80:: CO01: 1DFF: FEEOQ: O
*Mar 1 19:53:38.963: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
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